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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.

1.

12

0.

10.

28]

Answers are to be bubbled only on the separate carbonless answer-sheet provided to

you. After examination detach the carbonless copy from original OMR & keep
carbonless copy with you till the declaration of result.

Please write your Center Code & Seat No. very clearly (only one digit in one block)

on question paper. Before wriling your seat no. ascertained it with Hall ticket. Please
see that no block is left blank or unfilled.

Example -

CENTER CODE

I
]
28]

* I
SEAT NO M|[3 |39 1‘

b2
=]
[N
—
=
2

Please ensure that you have received Scholastic Aptitude Test answer sheet.

Total number of questions are 90 for this paper. All questions carry one mark each

All questions are compulsory.

For each question there are four options given in question paper. Check for the correct
answer and bubble correct option from four circles given in answer sheet by Black
Blue pen. Please do not write any answers on question papers.

Start answering from first question one after the other till last question.

If you do not know the answer to any question, do not spend much time on it and pass
on to the next one. Time permitting you can come back to the questions which vou
have left in the first instance and try them again.

Utilize the allotted time for solving the questions in best possible way. The rouch
work is to be done in the box given under cach page.

Do not wrile anything except Center Code, Seat No. and rough work anywhere in this
booklet.
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The umit of density in SI system 1s
(1) kg/m’ (2) N/m’ (3) Pa/m’ (4) g/em’.

The area of the bottom of a book kept on table is 0.50 m* and weight is 25N. Then

>

what will be pressure exerted by book on the table

(1) 5 N/m? (2) 0.5 N/m’ (3) 50 N/m’ (4) 12.5 N/m’.
Which are the constituents in a wet pulp of dry cell acting as electrolyte ?

(1) NH,CI and MnO, 2y ZnCl, and PbO,

(3) Zn and MnO, (4)  ZnCl, and NH,CL

Hydrogen nuclei combining together to form nuclei in the process of

nuclear fusion taking place inside sun’s nucleus.

(1) Uranium (2) Helium (3) Thorium (4) Barium.

Find the correct pair from the followings :
(1) Musical note - ni —— 480 Hz (2) Musical note - sa —— 426 Hz

(3) Musical note - ga — 256 Hz  (4) Musical note - dha —— 312 Hz.

Tuning fork vibrates 10,000 times per 20 seconds. Then the sound generated by the
fork will have a frequency of

(1) 2.00.000 Hz (2) 500 Hz (3) 512 Hz 4) 1 Hz..

is used to keep a watch on the ground from an underground bunker.
(1) Kaleidoscope (2) Telescope (3) Plane mirror (4) Periscope.
One light year is distance.

(1) 3 % 10° Km (2 05 x 10" Km

(3 95 = 107 Km (4 3 x 10" Km,

SPACE FOR ROUGH WORK
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1. W #IS) wgfa o s . {
(1) kg/m’ (2) N/m? (3) Pa/m’ (4) g/em’.

2. ZEEW @ TR fEam w1 SR @ AMwE 0.50m? 2, 39F 97 25N # W 3% fEaE

(1) 5 N/m? (2) 0.5 N/m? (3) 50 N/m? (4) 12.5 N/m>.

3. U= faum 4@ ¥ fagn owea & &9 4 31 @ wwdl % e fagm w5 ognE ww
2
(1) NH,CI 3R MnO, (2)  ZnCl, 3R PbO,
(3) Zn 3R MnO, (4)  ZnCl, 3R NHCL.

4. W F Fx 9 PHa AURE GoHET & FRU TESEH & ANGE w1 GAT wE .
........... % s TR ' 2

(1) Fem (2) fefemm (3) iftem () afEm
5. = A 9@ 96 w6iE ge=f

(1) =T - it —— 480 Hz (2) @ - 91— 426 Hz

(3) &t - 71— 256 Hz 4y =W - ¥—— 312 Hz.

6. TREF 20 §Fs F 10000 91 Hfqg 81 & o @F & F99 & FRO HE0 wHE
= pic TR | S il
(1) 2,00,000 Hz (2) 500 Hz (3) 512 Hz (4) 1 Hz..

7. A%d H qUS W0 F M ®H g8 F FW F gwet w e @ w o
& ImEm fFm s 2

............

(1) HTcrer=hm (2) g (3) "udael =dor (4) ufize
8, UF THEWEYE TE TH e T 2

{1y 3 x 10°F Km (2) 95 x 10" Km

{3) 9.5 x 10 Km (4) 3 x 10f Km.

SPACE FOR ROUGH WORK
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9.,

density, time, mass, velocity

(1) Time (2) Density

From the following quantities, find odd one out.

(3) Velocity (4) Mass.

10. What are the constituents of magnetic alloy Nipermag ?

(1y  lron, Nickel, Aluminium and Coball
(2 Alumimium, Nickel and Cobalt
(3 Iron, Cobalt and Nickel

<)y  TIron, Carbon and Zinc.

11. There is no need of medium for the

of heat.

(1) Convection {(2) Radiation

12 Mass of one proton is

(ly 16 x10"Mg (2)
(3) 6023 x 10°% g (4)

(3) Conduction (4) Transmission.

1.66 x 1077 g

1.60 x 107 g.

13. Identify 'A' and 'B' in the following disintegration of Uranium -235.

.-'."

+---...’ O T
1 -
ah o r A\

patd A

U 138
2
el

[A]

-

3%
29
- 1
.iun
]

141

(1) Kr and Ca

(2) Ba and Na

(3) Kr and Ba (4) Ba and Sr.

SPACE FOR ROUGH WORK
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9.

10.

11,

12,

13,

ﬁqﬂ@mmﬁwﬁml
T, HRY, $=HE, a9

(1) Ty (2) 57ed (3) =M (4) ==T4m

o w Jeta ofoy & wes w0 @ B
(1) @, fehe, wegffism, & emfem
(2) THfafem, e 3 FEc:

(3) =ier, wEwe 3 =

(4) @1, @7 3 S

FEF oo, & fou wegm =1 sravgsar a8 =R

(1) e (2) fa=rm (3) 249 (4) w&Im
TF WEH T OSEAM ..., &l

(1) 1.6 x 1019 g (2)  1o6 x 1077 g

(3) 6023 x 10¥ g 4) 60 x 10

ﬁm-qﬁiaaq@ﬁrﬁ?ﬁﬁ'qu—zaja%ﬁ@ﬁﬁmﬁmaaﬁqﬁﬁm

(1) Kr 3T Ca (2) Ba 3 Na (3) Kr 3R Ba (4) Ba 3T Sr.

SPACE FOR ROUGH WORK
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14.

Which of the following Electronic configuration is of metal ?

(1) (2,8,5) (2) (2,8, 7) (3) (2.8, 4) (4) (2.8, 1.
15. During the chemical reaction the splinter burns and pop sound produced. Identify the
correct chemical reaction.
(I) CO, + 2ZNaOH — Na,CO, + H,0
(2) MgO + 2HCI (dil) — MgCl, + H,0
(3)  Zn + 2HCI (dil) — ZnCl, + H,
(4) H,0,— H, + O,.
16. Identify the correct process for photosynthesis.
(1) C;H0,, + H,0— 2CH,,0,
(2) 6CO, + 6H,0 et _, C H 0, + 60,
(3) 2AgCl —ME , 2Ap + Cl,
(4) CaO + H,0 — Ca(OH), + Heat
17. Given figure shows the formation of ionic bond. Identify the ionic compound.
(1) NaCl (2) CaCl, (3) BeCl, (4) MgCl,.
18. Choose the correct alternative given below, used to prepare a Dhokla more fluffy and
porous.
(1) NEHCDA (2) NEI:CO?' (3) C‘.!L((')H}2 (4) NaCl.
[ SPACE FOR ROUGH WORK
] —
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14,

15.

16.

17.

18.

frafafan gewm § |/ wig @ gew gwun @ #2

(1) (2,8, 5) (2) (2. 87N (3) (2, 8, 4) (4) (2, 8, 1).

A TorEfE st @ adq feowens e W e A e @ o ‘e e sTEs
e #1 Frofafms § @ =9 weef

(1) €O, + 2NuOH —> Nu €O + H.O

(2)  MgO + 2HCI (dil) —— MgCl, + HO

(3)  Zn + 2HCI (dil) —— ZnCl, + H,

(4) H:(J: = H: + O,

frafafas § ¥ wewmvemm & s wfwa gEeEtl

(1) C,5Hp,0,, + Hy0 — 2CH 50,
(2) 6CO, + 6H,0 — T, C H ,0, + 60,

(3) 2AgCl T, 2Ag + Cl,

(4y CaO + II:{_} — Ca(OH), + Heal,

(1) NaCl (2) CaCl, (3 BeCl, (4) MgCl,.

fr fel i § @ fEE R WM R} Ewen’ wm, Tew o fewe A #
(1) NaHCO, (2) Na,CO, (3) Ca(OH), (4) NaCl.

SPACE FOR ROUGH WORK
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19.

In acrated drinks which acid is used ?
(1) Acetic acid (2) Carbonic acid

(3) Carbolic acid (4) Oxalic acid.

20. Which chemical process is not resisting corrosion ?

(1) Galvanization (2) Tinning (3) Powder coating (4) Salination.
21. LPG gas mainly cosist of two components propane and butane. It's ratio is :-

(1) 70: 30 (2) 40 : 60 (3) 30:70 (4) 60 : 40.
22. Ildentify the correct set of balanced chemical reaction.

(a) CO, +H,0— H,CO, (b) 280, + H,0— H,50,

(¢) SO,+ H,0—— H,S80, (d) 2MgO + H,0 —— Mg(OH),.

(1) (a) and (b) (2) (b) and (c) (3) (c) and (d) (4) (a) and (c).
23. Photosynthesis is not possible in due to absence of chlorophyll.

(1) Algae -(2] Fungi (3) Cactus (4) Lotus.
24, Identify calyx from the following figure :

(1) A (2) B (3) C (4) D.

SPACE FOR ROUGH WORK
10
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19. 9N M ot fomag § o I B B

20, FF @ TuEtE afufEm emor Aus T8 22
(1) Ty (2) e S (3) qas wifen (4) =g

2. TARS. 99 A wg@ w9 ¥ W R FEA I "eE € € (e UH ... @ 2

(1) 70 : 30 (2) 40 : 60 (3) 30 : 70 (4) 60 : 40,
22, FrafafEa A 4 wgfew ol sfufen & "= & g

(a) CO, + H,0 — H,CO, (b) 280, + H,0 — H,SO0,

(c) SO;+ H,0—— H,SO, (d) 2MgO + H,0 —— Mg(OH),.

(1) (a) 3R (b) (2) (b) 3R (c) (3) (c) 3 (d) (4) (a) T ().
23, § gfiagsm 7 89 ® FEW TN SvENu A8l & SFd B

(1) dam= (2) Fa% (3) f=En (4) T

(1 A (2) B (3) C (4) D.

SPACE FOR ROUGH WORK
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: . : . . ja ?
From the following which protozoa is responsible to cause disease malaria ?

(1) Plasmodium vivax (2) Entamoeba hystolytica
(3) Amoeba (4) Paramoecium.
26. For proper diagnosis of AIDS disease which blood test is done ?
(1) HCG (2) WIDAL (3) ELISA (4) CBC.
27. gas layer protects the living world of the earth from ultraviolet rays
radiating from the sun.
(1) Ozone (2) CO, (3) SO, (4) CO.
28. The machine / instrument which records earthquake is called as
(1) Biograph (2) Autograph (3) Seismograph (4) Photograph.
29. Size of Eukaryotic cell is .
(1) 1-10 micrometer (2) 5-100 micrometer
(3) 5-100 nanometer (4) 1-10 nanometer.
30. In case of a healthy person, how many heart beats per minute are there?
(1) 78 (2) 79 (3) 76 (4) 72.
31. A, B and O blood groups were discovered by
(1) Dr. Karl Landsteiner (2) Decastelo and Sterley
(3) Carl Linius (4)  Robert Harding Whittaker.
32. The sanctuary at Bharatpur is famous in the world for
(1) Tigers (2) Deers (3) Aquatic birds (4) Lions.
33. Which country in the world has largest number of diabetes patients ©
(1) Japan (2).India (3) America (4) Pakistan.
SPACE FOR ROUGH WORK
12
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25, Frefafan o @ #W-w enfesfa watfa 3 4 fau swo w9 B

(1) =rifeay =aEemy (2) uw=ifga fe=ifafes

(3) oy (4) iy
26. TBH (AIDS) M ¥ fgm ®W & feau @a &1 wta #1 9wt 2

(1) HCG (2) WIDAL (3) ELISA (4) CBC.
27. ¥4 4 9§ Swfvia B et e fEl 8o ar] gedt #1 weia gfe #:

T Fw R

(1) 3irEH (2) CO, (3) SO, (4) CO.
28, &Y HI AY FE A TA FH AT oo 2l

(1) =& (2) fZmE (3) fam=mms (4) FIRITE
29, TITHE THI HIEEH Hl AFEN .o, g #

(1) 1-10 WTgehIHT (2) 5-100 WIFHHEET

(3) 5-100 =AML (4) 1-10 -FHRT
30, gm feifa ® AME wed @ Wi foe fee wed B 22

(1) 78 (2) 79 (3) 76 (4) 72.
31, A.B 3R O A @ TEE F WH ... 3 =N

(1) = & dsRR (2) femm=el s =i

(3) e fafad (4) W2 wfEdn faerae
32, WG B HAT e, # for v

(1) = (2) &= (3) o & fet feem 9ot (4) IR
33 fayg § WA G WYER B WM AN W wW W@ &7

SPACE FOR ROUGH WORK
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34,

Where is National Centre for Cell Science Institute?

(1) Mumbai (2) Delhi (3) Nagpur (4) Pune.
35. Muscles contribute almost of the weight of a healthy adult human
body.
(1) 40% (2) 60% (3) 10% (4) 17%.
36. Which is considered as a unique discovery of Modern technology of 20th century ?
(1) Powadu (2) Photograph (3) Folk song (4) Film.
37. During 1450 AD, . from Germany discovered printing press.
(1) Johannes Gutenberg (2) Barttolomeu Dias
(3) Christopher Columbus {(4) Vasco Da-Gama.
38. The Emperor Aurangzeb, who came to defeat Marathas, died at in
1707 CE.
(1) Pune (2) Satara (3) Ahmednagar (4) Aurangabad.
39. Identify the wrong pair :
(1) Varhad - Imadshahi (2) Bidar - Qutubshahi
(3) Bijapur - Adilshahi (4) Ahmadnagar - Nizamshahi.
40. Who established 'Satyashodak Samaj' ?
(1) Raja Rammohan Roy (2) Dadoba Pandurang Tarkhadkar
(3) Swami Vivekanand (4) Mahatma Jyotirao Phule.
41. Who was the last Governor General of India ?
(1) Lord Canning - (2) Lord Dalhousi
(3) William Jones (4) Lord Bentick.
SPACE FOR ROUGH WORK
14
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34,

35.

36.

a7,

38.

39,

40.

41,

L

‘T wifeen faam #7) F wen #1 FHEE FE 82
(1) H=d (2) feeeh (3) TR (4) goi

(1) 40% (2) 60% (3) 10% (4) 17%.

Hedl v H o weet fowe w1 e AfEmR R oW S @2

(1) TaEs (2) Brafa= (3) @A (4) fred

T4 1450 ® AW-UE T F oo 4 HEW AR & @S

(1) Ser| Tea (2) =g 2 @=d

(3) fgmw widaw (4) ARER-Z-TTH]

TE &1 UEE HW o fU 3 0" ARE & g a4 1707 F o, T gl
(1) oI (2) wmEm (3) TEWEAH (4) TR

frAfafaa § 9 Tew sl TEEH w1 fSfEn
(1) =% H1 - TARTE (2) fa=x =1 - Fg=wmel
(3) TR W - S (4) @HEAR = - fremwmE

(l)wmﬁ'{ﬁl (E]WWW
(3) @t fadmee (4) WErw SdTE w/e
Frafafag § @ 9@ 1 AfE( TET e ®E
(1) @ HfHM (2) @iE sca@
(3) Taegm =4 (4) w2 afzn

SPACE FOR HOUGH WOHRK
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42,

43.

45.

46.

Identify the wrong pair :

(1)

(3)

Select Extremist phase of Indian Freedom movement.

(1)

(3)

1782 - Treaty of Salbai

(2) 1802 - Subsidiary Alliance Treaty

1848 - Annexed the state of Satara (4) 1884 - Pitt's India Act was passed.

1857 1o 1885 (2) 1885 to 1905

1905 o 1920 (4) 1920 1o 1947.

Name the place, where farmers began the movement for scrapping of tax in 1918 ?

(1)

Kheda (2) Solapur (3) Gorakhpur (4) Amravati.

Identify the Satyagrahi in given picture :

(1)
(3)

Select the correct chronological order from the given :

(a)
(b)
(c)
(d)
(1)
(3)

Shrikrishna Sarda (2) Mallappa Dhanshetti

Qurban Hussain (4) Jagannath Shinde.

Attack on Chittagong Armoury

Kakori conspiracy

Provisional Government of free India was established in Kabul

Rand was shot.

(a), (b). (c¢) and (d)

(2) (b), (c), (d) and (a)

(c), (d), (a) and (b) (4) (d), (c), (b) and (a).

16

SPACE FOR ROUGH WORK
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42, ﬁﬁﬁf@aﬁﬁwwwmml
(1) 1782-Gremaré =1 ot (2) 1802-TeTE Wt H1 wHHAm
(3) 1848-"Wmm famd 1 fae= (4) 1884-9a & fawa d T2 =1 &
43, frefafas ¥ 9 ardm @daw Tum £ WE @ F FeEs = W@ 22
(1) 1857 & 1885 (2) 1885 @ 1905
(3) 1905 & 1920 (4) 1920 3 1947,
44, frarl 3 = 1918 ¥ W @ sidem wm | faw d gE A
(1) @=1 (2) HEmgR
(3) MEYw (4) U=
45, 9 fau U fam § faEE P Aw w@mE S 22
(1) s WSl
(3) HAA T
46, i Wz W@ wa § fan aen fFEmer T
(=) fFaaria FEArTL W B
(@) HER TSI
(m) e # WA T F G A F
(a) & T ™
1y @), @, @ D 2) (@, (. (W M (&)
w sk (@) (4) (@), (M, (@) 3 (F)

S5PACE FOR ROUGH WORK
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47.

49.

50.

al.

52,

53.

54.

Who is described as "Father of Indian Workers Movement” ?

(1) Narayan Meghaji Lokhande (2) Prof. N.G. Ranga

(3) Shripad Amrut Dange

(4) Sane Guruji.

On the basis of which plan of 18 July. 1947 the Indian Independence Act was passed
in British Parliament ?

(1)
(3)

Who officially announced the formation of Maharashtra State on 1st May, 1960 ?

Pethic Cawrence

A.V. Alexander

(2) Stafford Cripps

(4) Mountbatten.

(1) Pandit Jawaharlal Nehru (2) Indira Gandhi

(3) Yashwantrao Chavan (4) Shankararao Chavan.

When was third battle of Panipat fought ?

(1)

1526 (2

) 1556 (3) 1760

(4) 1761.

Write the option which indicates total members of Rajya Sabha ?

(1)

In which nation the parliamentary system of government is primarily developed ?

(1)

250 (2

India (2

) 288 (3) 238

) America (3) England

Who was the President of the Constituent Assembly ?

(1)
(3)

Dr. Rajendra Prasad

Pt. Jawaharlal Nehru

(4) 352

(4) France.

(2) Dr. Babasaheb Ambedkar

(4) Sarojini Naidu,

Which one of the following is not included in Maharashtra state executive ?

(1)

(3)

Governor

Council of Ministers

(2) Chiel Minister

(4) The Chief Justice of High Court,

SPACE FOR ROUGH WORK
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47. " A iR % s fee we w87
(1) = T e (2) WLOAS. T
(3) 4R 3mm =i (4) "R T
48. 18 VX 1947 H FNH W Ao F WMR W IO W OGEH A GRAA T F
FT U@ fewa?
(1) 9o Aiew (2) wwe f&FH
(3) T=l. = (4) WiFe e

49. 1 W 1960 F WEWE W HI IfumEm Amm fEme w7
(1) 9. SaEEE B (2) Efem A
(3) I9EaE e (4) YA Teamo

50, UHIGd w1 @60 qE FA gIl?
(1) 1526 (2) 1556 (3) 1760 (4) 1761.

51, Tl H wmd weE Fgen fEe @2
(1) 250 (2) 288 (3) 238 (4) 352.

sz,ﬁﬂmﬂﬁﬁﬁﬂﬁﬂﬁw&mwwﬁﬁﬁﬁmﬁag?

(1) 9d (2) ¥R (3) Trie (4) WA
53 ofauE §W & AR FH 47

(1) = THEER (2) 3. 9=EEd EEHt

(3) 4 wEREET e (4) TUFSH g
54, ﬁgﬁ{mﬁﬂﬁﬁqﬂmﬁumﬁmmﬁqﬁm?

(1) T (2) FeFasH

(3) wHAHEd (4) T=0 =9+ =AM
= SPACE FOR ROUGH WORK
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55. Who appoints the Chief Justice of Supreme Court of India ?
(1) The Union Public Service Commission (2) President
(3) Prime Minister (4) Council of Ministers.
56. Identify cold current from the options given below :
(1) Falkland current (2) Brazil current
(3) Equatorial current (4) Kurishio current.
57. ldentify the cloud type from high clouds which are mainly wispy.
(1) Cirro-stratus (2) Alto-stratus
(3) Cirrus (4) Cirro-cumulus.
58. The earth takes minutes to cover 02°,
(1) 4 (2) 8 (3) 16 (4) 15.
59. There is a discontinuity between the continental crust and oceanic crust. It was first
deduced by a scientist called
(1) Guttenvurg (2) Grabo (3) Mohorovicic (4) Conrad.
60. Identify the correct option
Group 'A’ Group 'B’
(a) Loo (i) Cold and dry
(b) Simoom (ii) Hot and dry
(¢) Chinook (i1i) Hot dry destructive
(d) Mistral (iv) Blow down from eastern slopes
of Rocky Mountain
(1) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(1)
(2) (a)-(Gi). (b)-(i1), (c)-(i), (d)-(iv)
(3) (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)
(4) (a)-(i), (b)-(iv), (c)-(ii), (d)-(ii1).
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55.

56.

57.

58.

59.

60.

CSwvssatovin[s]

TE P TS Enin #) g ol g

(1) ®EA AFda s () awd)
(3) s (4) Hdmaa
frafafes 9 /@ ‘38 s ad! weanl
(1) ®EFEE Hm (1) srfler vane
(3) fogaqEm um (4) @piteE W
AyF F9E T I § dgam ww ow @ @
(1) fau=g (2) oeered
(3) fam (4) foatEgeIerE
g B A FT TR B A . R WD
(1) 4 (2) 8 (3) 16 (4) 15.
e Td WEfgd quee & A9 SHiae € A8 W .. SEE A F
(1) =t (2) Tist (3) mERfefas (4) FHAE
3fea ifedl =wi @men fases I
‘H' M ‘q4' e
(i) (¥) i A I=h
(i) fogm (@ ™ R T
(iii) =% (F) T, Y= aft faamerrd
(v) fre (3) Tl Wed & YA eaAM | T arel

(1) ()-@. (i), ({i)-). (v)-(0)
2y (i)-(®), (iD)-(@, ({iiD)-(F). (V)-(3)
(3) (1)-(2), (ii)-(37), (1)-(F), (1v)-(d)
4y ()20, (11)-(3), (iiD)-(F), (iv)-(F).
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61.

Name the land which is not used by farmer as a part of his agricultural land for one
or two seasons ?

(1) Culuvated land (2) Barren land
(3) Non cultvated land (4) Fallow land.
62. clouds are formed cxtensively from 500m to 6000m altitudegy
(1) Cirrus (2) Cumulus (3) Alto stratus (4) Stratus.
63. On ____ _ the State Government of Maharashtra established The
Maharashtra Industrial Development Corporation’.
(1) 1st January, 1962 (2) 2nd January, 1962
(3) Ist August, 1962 (4) 2nd August, 1962,
64. ldentify the correct option based on the depth of ocean floor from deeper to steeper
slope.
(1) Abyssal plain - Continental slope - Continent: | stelf - Marine trenches
(2) Continental shelf - Continental slope - Marine trenches - Abyssal plain
(3) Continental slope - Abyssal plain - Continental shelf - Marine trenches.
(4)  Marine trenches - Abyssal plain - Continental slope - Continental shelf.
65. Which option shows the position of Lunar eclipse ?
(1) Sun - Earth - Moon (2)  Earth - Sun - Moon
(3) Moon - Sun - Earth {4y  Sun - Moon - Earth.
66. Identify the wrong option :
(1) Linear scale (2) Language scale (3) Numerical scale (4) Verbal scale.
67. Identify the ocean current which is flowing from pacific ocean.
(1) Brazil current (2)  South polar current
(3) Peru current {4y Canary current.
68. The continents are mainly composed of and
(1) Silica and Magnesium (2)  Nickel and Iron
(3) Silica and Aluminium (4)  Silica and Nickel.
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62,

63.

64.

65.

66,

67.

68,
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(1) T w7 oy

(2) w9y
(G) T e w1 i (4) et v
................ ﬂ'ﬂmmﬂ'ﬁﬁunﬁﬁnﬂrﬂaaﬁﬁrﬁ%aﬂﬂ?a‘mﬁmfl
(1) fem (2) Fgager™ (3) ey (4) &zw
WEE T WHER F ... #® fo7 ‘mene U aiemifE fmt @ wmem @
(1) 1 =t 1962 (2) 2 el 1962
(3) 1 3@ 1962 (4) 2 37T 1962

Pt fawedl & A werrim g W W e Tw @ wE T <ol aen w9
FH F fawen

(1) SMiE T - Wi e - wefedm wRe - W
(2) weted weez - wefgda = - aeig @E - | dem
(3) WeMeia ol - Wrig f&R - wefdE Teee - | @
(4) WM @6 - WA WRE - wefEE oW - weRdE Teee

ﬁﬁ%ﬁaﬁﬁﬁmémqﬁ,qﬁaﬁ?maﬁfﬁﬁwﬁwﬁmﬁ|

(1) ¥ - geat - =3 (2) gedt - b - =g

(3) 5% §d - gt (4) 94 - =m - geA

Tem fawed A

(1) @ (2) W = (3) 1 AT (4) FuAws )
frafafas & ¥ ®FG IPE 4R weid WeRTR § #)

(1) ¥eE waE (2) =™ e um

(3) IF H[ (4) =10 um

wfEf qEed FEH: H Tl ¥ W R

(1) fafeem w& Heifem (2) e v a3

(3) fofee @ TegfHiEs (4) fafew sk fagm

—
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69. Important information technology centers are known as '
(1) LT. cyber (2) LLT. (3) LTL (4) LT. hubs.

70. Identify the code alphabet which is used to show the mantle.

() P 2) Q (3) R | ) S.

3 511 17 35

A T T T i is 5 i 7
71. 4°3°16°32' 64 which is the smallest fraction

17 35 5 11

32 (2) 7 (3) 3 4) —

() 8 16

72. xes L and when x = 72 then y = 8, if x = 48, find y =7
Y
(1) 4 (2) 10 (3) 6 (4) 12.

73. (2x + 3y - 52)* =
(1) 4x? + 9y? + 2522 + 6xy - 15yz + 10xz
(2) 4x* + 9}:2 + 25z% + 6xy - 15yz - 10xz
(3) 4x% + 9y? + 2527 + 12xy - 30yz - 20xz
(4) 4x + 9y? + 2522 + 12xy + 30yz - 10xz.
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69. qﬂmn‘mﬁmqtn[mﬁmﬁq@mﬁmmé?
(1) s & " (2) @@ 3@ A
(3) s 4 wg (4) @A 4 &4

70, M9 fau swpfa 4 wen 4 @ dEdw wew @ @ 22

(1 P (2) Q (3) R (4) S.
?1133&]?3-5@‘%‘1&?'1" e wE W 7
© 4’81632 64 A o S S AT
17 35 5 1
sm— ¥ - — —_— e
M 3 (2) o 3) g @ T
72. ,tﬁt]—'&]a_l.:?zﬁ}':ﬁ %lm_r:s‘lH'ﬂ&}':?
y
(1 4 (2) 10 (3) 6 (4) 12.
73. (2x + 3y - 52V = B
(1) 4x2 + 9y? + 2527 + 6xy - 15yz + 10xz
(2) 4x2 + 9y + 2527 4 6xy - 15yz - 10xz
(1) 4x2 + 9y? + 2527 + 12xy - 30yz - 20xz
(4) 4x° + 9y~ + 2577 + 12xv + 30yz - 10xz.
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74. In the adjoining figure line P|| line Q, line || line M. Using the measures of given
angles find measures of angles a and b respectively.

o [P &
@'rxﬂ%{/{ /
A
~ "

] ﬂ'&lx-ﬂl)"

(1) 104° and 76°  (2) 76° and 76° (3) 104° and 104°  (4) 110° and 70°.

75. Which are the factors of 3x2 + 27x + 54 from the following ?
(1) 3(x + 6) (x + 3) (2) 3(x+9) (x+2)
(3) 3(x + I8)(x + 1) (4) (x + 9(x + 6).

76. Find length of diagonal of a square whose side is 10 cm.

(1) 106 cm (2) J150cm (3) J200cm (4) V100 cm.

77. :.c—l=5then ?[_xj +L-,] =7
X <

(1) 89 (2) 189 (3) 279 (4) 149.

- 78. Square PQRS is inscribed in a circle with centre O. If radius of circle is 21cm then find

area of shaded region.

S AN Sy P
d L
N
R Q
(1) 304 sq.cm (2) 404 sq.cm (3) 456 sq.cm (4) 504 sq.cm
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74 X B X Q okt g v v b g E TR A e o 2
FH I A ey

o [P aQ
Cijx—'r:lﬂ/ f h
- 2 4 m:'-
] /(falx-m]”

(2) 76° 7 767, (3) 104° 9 104°  (4) 110”5 70",

(1) 104° 5 7¢°

75 X +27x +54 F T EE F g 2
(1) 3(x +6) (x + 3) (2) 3(x+9) (x+2)
(3) 3(x + 18)(x + 1) (4) (x + 9)x + 6).
76. 10 ¥ 99 9 W F fowet = e fea
(1) 106 ¥t (2) 150 &t (3) 200 #H (4) oo =t
77, x-1os @ ?[x%—l,-} ?
X X’
(1) 89 (2) 189 (3) 279 (4) 149.
78. '0' ®Z AW FA F PQRS = erifatar 2 =W F fvw 2 W T A TEifed 9
FH AT faHan?
P
N
Q
(1) 304 = 9+t (2) 404 =1 9t (3) 456 =f am (4) 504 =7 5
[ SPACE FOR ROUGH WORK
—_— —
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79. O PQRS is a square with side 28cm. Points A, B, C and D are midpoints of cach side.
Find the area of ABCD

& c =

(1) 392 sq.cm (2) 492 sg.cm (3) 342 sq.cm (4) 372 sq.cm

80. A farmer sold food grains for Rs. 25,000 by giving 3% commission to the agent. Find
the amount received by farmer.

(1) Rs. 750 (2) Rs. 24250 (3) Rs. 24,750 (4) Rs. 24,500
81. Find the compound interest on principal Rs. 8,000 for 2 years at the rate of 10 p.c.p.a.
(1) Rs. 9,680 (2) Rs. 1,600 (3) Rs. 1,680 (4) Rs. 1,690

82. Radius of a circle with centre 'C' is 17 em. Find the distance of a chord from the centre
of circle if length of chord of circle is 30 cm.

(1) 6 cm (2) & cm (3) 9 cm (4) 10 cm.

83. If 3™ + 3™+ = 108 then m

g

1 |
7y = 1 Sl
(1 3 (2) 3 (3) 4 (4) 2
2 -1 -1
2\ (1 A
84. [_E) +[2] _(3] o
2 = 3) < @y 2
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79.

80.

81.

82.

83.

84,

DPQRSmmmaﬁimaﬂ%a‘ﬂa.n,cﬁﬂnmqﬂ#:w
ﬂlﬁDABCDmmm?
P A

oS
p 8
e c R
(1) 392 =i ¥t Q) 492 i (3) M2 wEE (4 32

TF FRER A 25000 7 wig @ o S @1 WEE @ 49N I@ F 3% w0
30 v & ww o ot ww e

(1) 750=. (2) 24250 =. (3) 24750 %. (4) 24500 =

YAW W 10 W Y 8000 T FEEA & 2 a4 ¥ = ge AW fHEA
(1) 9680 =. (2) 1600 =. (3) 1680 %. (4) 1690 =.

*C'ﬁmﬁqﬂﬁﬁwnﬁ%waﬁwﬁmﬁaﬁﬁmﬁ%#ﬁ?
g9 & ®x d g0 fwar
(1) 63t (2) 8 =t (3) 9§« (4) 10 ¥

3m 4 3m+l = |08 W m =7

1 ]
(1) 3 @ 3 (3) 4 @ !
-2 =1 1
I
3 2 3
-3 . | 5
(1) 0 (2) 3 (3) s (4) 7
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86.

87.

88.

89.

90.

If the diameter of a cylindrical tank is 2.8m and height is Sm then how much water

22
in litres the tank will hold ? (“ :?}

(1) 30, 400 (2) 32, 800 (3) 30, 800 (4) 31, 400.

Quadrilateral cannot be constructed by which of the following given conditions ?
(a) Given foursides and one diagonal

(b) Given three sides and one diagonal

(c) Given any two sides and three angles

(d) Given three sides and angle included by them.

(I) Only B and C (2) Only B

(3) Only B, C and D (4) Only C.

Polynomial x* — 7x + 15 is divided by (x — 3) write the quotient and remainder
respectively.

(1) (x-=4).0 (2) (x + 4): 29 (3) (x —4); -3 (4) (x —4): 3.

In a frequency distribution table if Xfixi = 1363 and N = 29 then find mean X = ?
(1) 49 (2) 69 (3) 47 (4) 67.

From the given information, find the perimeter of of pentagon ABCDE.

5 E
As—22—C
(p1
D
—
(1) 109 (2) 106 (3) 118 (4) 133,

The ratio of weights of copper and zinc in brass alloy is 13:7. Find the weight of zinc
in brass utensil weighing 1.2 kg.

(1) 420 (2) 410 (3) 540 (4) 610.

SPACE FOR ROUGH WORK
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86.

87.

88.

89.

90,

—— " spaCE FOR ROUGH WORK

W TR AR A AR ) 2w oma 260, & A wed 5 A, @ sl
fﬂw_t'l':ﬂ‘?rﬁﬂﬂwrn? (T[::?_E]
2

(1) 30, 400 (2) 32. 800 (3) 30, 800 (4) 31, 400.

Fefafas 4 9 % @ afed 3 eam ® gds = T @ wwd
() 0 ol o fawt Ry oW

(B) 8 @ @ g v 4= &m 3 W

(%) T g 3 3o wofae w8 W W

(1) ®%a@ 9 9 4 (2) Fael ¥

(3) %a@1 9, § 3 = (4) o ¥

- Tx + 15 TEI F (x-3) § 9 W qE R I Frefafea § 8 B
22

(ly (x =4);,0 (2) (x +4). 29 (3) (x —4): -3 (4) (x —4): 3.

UF ARATdl famm wRof 6 @R Yfk = 1363 ¥R N =29 @ X (FA) = 7

(1) 49 (2) 69 (3) 47 (4) 67.
mﬁmﬁwﬁa’rmﬁqﬁaﬁm@ﬁimcmﬁuﬁﬁﬁmﬁ?
- 35 =
b2
' D
C) (o
(1y 109 (2) 106 (3) 118 (4) 133.

ﬁaﬂﬁmﬁmﬁ'{m?ﬂmmﬁm%.ﬁﬁ|.2ﬁﬂﬁ¢aﬁﬂﬁm
fpaen T\ WY

(1) 420 (2) 410 (3) 540 4) 610.
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